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(66)m= | 347,27| 34727 | 347.27 I 34727 | 347.27 I 347.27 | 347.27 I 347.27 | 347.27 | 347.27 I 34727 | 347.27 I (66)

Lighting gains (calculated in Appendix L, equation L9 or L9a), also see Table 5
(67)m= | 449.38' 399.13 | 324 6 | 24574 | 183.69 | 155.08 | 167 .57 | 217.82 | 20235 | 371.21 | 43325 | 46187 | (67)

Appliances gains (calculated in Appendix L, equation L13 or L13a), also see Table 5

(68)m= |2407,47| 2432,45| 2369.5 |2235.48| 2066.3 | 1907.3 | |80|,07| 1776,09| 1839,05| 1973,07| 2142,24| 2301.25 (68)
Cooking gains (calculated in Appendix L, equation L15 or L15a), also see Table 5

@om=| 7551 | 7551 | 7551 | 7551 | 7551 | 7551 | 7550 | 7551 [ 7551 | 7551 | 7551 [ 7551 | (69)
Pumps and fans gains (Table 5a)

(70)m:| 10 I 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | (70)
Losses e.g. evaporation (negative values) (Table 5)

(71)m= |.23|,51|-23|,5| |~23|,5| |-23|,5| |-23|.5| |423|,5| |-231,5| |'231,5| |»231,5| |-231,5| |-23|,5| |-23|,5| | (1)
Water heating gains (Table 5)

(72)m= | 256.36| 252.4 | 244.16 | 232.97 | 2257 | 215.47 | 206.77 | 217.91 | 221.87 | 233.46 | 246.54 | 25241 | (72)
Total internal gains = (66)m + (67)m + (68)m + (69)m + (70)m + (71)m + (72)m

(73)m= |33I4.48| 3285.26| 3139.53 2915_4e| 2676.97| 2479.|2| 2376.68' 2413.09| 2554.54| 2779.01 | 3023.3|| 3216.8 | (73)

Solargains are caleulated using solarflux from Table 6a.and associated equations i@ convert to the applicable orientation:

Orientation: Access Factor Area Flux a_ FF Gains
Table 6d m? Table 6a Table 6b Table 6¢ (W)

North™ oo o7 | x|_wmam| x| 1063/ |'x|U 0es || o7 || = 488 |74
North  oox| oz | x 122 x [ 2032 | X 068 x| 07 | =[  eizee |(74

)
North - Soox[™ agz 0 | <[ 122 O] & 3483 % [ees | x[ o7 | =[ 1mee |
North oox| o7z | x| 122 x|\ 5546 | x| wes\ | x| o7 | =| o28u |
North — oox| 077 | x| 122 | x| 7472 | x| o8 | x| o7 | =| 300685 |74
North  oox] o077 | x| 122 | x| 7000 | x| 0es | x| o7 | =| 321802 |79
North  oox| o077 | x| 122 | x| 7468 | x| o0e8 | x| 07 ] =] ‘300528 |74
North  oox| o077 | x| 122 | x| s025 | x| 0es | x[ 07 | =] 2383 |74
North  oox| 077 | x| 122 | x| a1s2 | x| o8 | x| o7 | =] ‘ier070 |79
North — oox| 077 | x| 122 | x| 2419 | x| oe8 | x| o7 | =| or3ss |74
North  oox| o077 | x| 122 | x| 1312 | x| oes | x[ o7 | =] ‘soer |4
North  oox| o077 | x| 122 | x| &8s | x| o8 | x| o7 | = ‘3me7ra |79
East 0.9x| 1 | x| 64 | x| 1984 | x| o0es | x| 07 | =] 41464 |0
East 0.9 1 | x[ 30 | x[ 1964 | x| 0es | x| o7 | =] 1043 e
East  o.0x| 1 | x| 64 | x| 3842 | x| o0e8 | x| o7 | =] ‘sz |oe
East  o.ox| | | x| 30 | x| ssa | x| oe | x| o7 | =] ‘321 |ue
East 0.9« 1 | x[ ea | x| es27 | x| o0es | x| o7 | =] 133570 |08)
Bast  0.9«| 1 | x[ 30 | x| es2r | x| o0es | x| o7 | =] w15 |76
East  0.9x| 1 | x| 64 | x| w2 | x| o0es | x| o7 | =] ‘104818 |78
East 0.9 1 | x| 30 | x[ 9228 | x| o0 | x| o7 | =] 91321 |u®)
East  0ox| 1 | x{ 64 | x| 11300 | x| o068 | x| o7 | =] 2375 |6
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East 0.0« 1 [ x| 30 | x| 1moe | x| o0es | x[ o7 | =] ‘11997 |oe
East 0.0 1 [ x[ 64 | x[ w57 | x| ees | x| 07 | =| 24441 |79
East 0.0 1 | x| 30 | x| wsmm | x| ees | x[ o7 | =] 1user oo
East 0oy 1 | x| ea | x| 1022 | x[ o0es | x[ o7 | =] 2328 |79
Bast ooy 1 | x[ 30 | x| 102 | x| e | x| o7 | =] ‘10072 |06
East  o.ox| | | x| e | x| oaee | x| o088 | x| o7 | =| ‘100875 |6
East 0.9 1 [ x| 30 | x| ease | x| o068 | x[ 07 | =] ‘e |79
East 0.0« 1 | x| 64 | x| 75 | x| o0es | x[ o7 | =] s |oe
East 0.0 1 [ x| 30 | x| 75 | x| o0 | x[ o7 | =] 722 |09
East 0o 1 | x| 64 | x| 4550 | x| 0es | x[ o7 | =] o246 |9
East 0.0 1 | x| 30 | x| 4550 | x| ees | x[ o7 | =] 45115 |oe
East  o.ox| 1 | x[ 64 | x| 2440 | x| 0es | x| o7 | =] 517 |76
East  0.ox| 1 | x[ 30 | x| 2440 | x| o0es | x| o7 | =] 24235 e
EBast  oox| | | x[ o4 | x| w615 | x| o0es | x| o7 | =] 34008 |8
East  o.ox| | [ x| 30 | x| 615 | x| o0es | x| o7 | = 15083 |ue
South oox[ o077 | x| e | x| 475 | x| 0es | x| o7 | =] 13708 |9
South oox] 077 | x| 90 | x| 757 | x| o0es | x[ o7 | =] 227316 |8
Southvgdx| “wozz | «f| @0 ] orsz el oes || ez | =] 28058 |@@®
South  00x[ oz, | x| oo | x| 1023 x| Lo0es |x| o7 | =| 327285 |78
South oox| om | x| 90 x| 1asrff x| wes |x| o7 | =| 343 o8
South oox| o7 | x| @@ | ¥ 1055 | x|U @es | x| ez | = 3o |09
South “oox[ ogz | x| 90 x| 10801 ey 06 | x| o7 | =| 3meerz |78
South  oox[ o7 | x o0 P o489 x| e, | x| o7 | =] 3t4a2 |79
South 0.9x|T| X 90 X I-Wl X |TI X r 07 | = | 3024T|(78)
South  oox| o077 | x| 90 | x| s | x| oes | x| o7 | =] 2s18 |8
South oox| o077 | x| 90 | x| ssa2 | x| oes | x| o7 | =] 164523 |s)
South  oox| o077 | x| e | x| 404 | x| o0es | x| o7 | =[ ‘110034 |
West  oox| o077 | x| 105 | x| 19e4a | x| o088 | x| o7 | = es02s [®0
West  oox| 077 | x| 130 | x| 194 | x| 08 | x| o7 | =[] ‘80223 ]eo
West  oox| o077 | x| 105 | x| 342 | x[ oes | x[ o7 | =] ‘13074 |eo
West  oox| o077 | x| 130 | x| 34 | x[ o0es | x| o7 | =] earss  |e0
West  oox| o077 | x| 105 | x| e32z | x| o068 | x| o7 | = 219154 ]©0
West  oox| o077 | x| 130 | x| e3zr | x| o0 | x| o7 | = om3z |eo
West  oox| 077 | x| 105 | x| 9228 | x| o0 |x| o7 |=[ 31923 ]©0
West  oox| o077 | x| 130 | x| o228 | x| o0 | x| o7 | =| 35723 []®0
West  oox| o077 | x| 105 | x| 1300 | x| o0 | x| o7 | = ‘3071 |®0
West  oox] 077 | x| 130 | x| 1300 | x[ oes | x[ 07 | =| 484074 |0
West oox| o077 | x| 105 | x| ms77 | x| o8 | x| o7 | =| 400084 |0
West oox| o077 | x| 130 | x| wms7z | x[ o0es | x[ 07 | =] 4eeasz @0
West  oox| o077 | x| 105 | x| 1022 | x[ e | x[ o7 | =] 3sizsa  |e0
West oox| o077 | x| 130 | x| 1022 | x| o8 | x| o7 | =| 4747 |®0
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West 0.9x | 0.77 X 105 X 3279.21
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West 0v9X| 0.77 I | I | 16.15 I | 0.68 I X | 07 I = | 559.42 |(80)
[_esesr_Jeo
)

)

)

)

)

)

)

)

West 0A9x| 0.77 | | | | | | 0.68 |x| 07 |: 692.61

Roofiights 0.ox [ 1 | x| 27 | x| 26 | x| o076 | x| 08 | =

|
Rooflights 0 9x[ 1 | x| 25 | x| 26 | x[ o7 | x| 08 | = |
Rooﬂightso,Qxl 1 I X I 54 | X | 2 l X I 0.76 | X I 038 I = I 76.83
Roofiights 0.9 1 | x[ 87 | x[ 26 | x| o | x| 08 |-
Rooﬂlghtsqu| 1 | | | | 54 | x| 0.76 | x| 0.8 | :| 797 82 |
rootigisn o] « ] ] e e

Rooflights 0 ox | 1 | x| 54

54 | x[ o7 | x| 08

Rooflights 0 ox| | | xpes 54 |l o7e |l 08

[ |
[ x|
Rooflights 0 ox 1 | < 27 X e x| hore | x| os
Roofiightsoox[ 41 | x| 25 s [ o6 2] x[ o | x| os
| ]
I

1418.34 |(82)
131828 | (82

28367 |82
|

Roofightsoox[ 1 | x [ 54 o6/ x| ors  |x| o8

Rooflights 0.ox] 1 | x| 87 X 96 | xI o7 | x| 08 = 457.02 (82
Rooﬂightso,gxl 1 | x| 27 | x 150 xl 076 | X L 08 = 2216.16 |(82

Rooﬂightso_gxlﬁ X 25 [ x 150 X |T| X r 08 = 2052 (82
Rooﬂightso,gxl 1 l X I 54 | X | 150 l X I 0.76 | X I |(82
Roofiights 0.ox [ | | x| 87 | x[ 150 | x| o7 | x| o8 = 714.1 |82
Rooflights 0.9x 1 | x| 27 | x| 192 | x[ o076 | x| 08 = 283668 |82
Rooﬂightsovgx| | | X | 25 | X | 192 | X | 0.76 | X | 08 = 2626.56 |(82
Rooflights 0.9x 1 | x| 54 | x| 192 | x[ o076 | x| 08 = 567.34 |82
Rooflights 0.ox 1 | x| 87 | x| 192 | x[ o7 | x| 08 = 91404 |(

Roofiights 0 ox| 1 | x[ 27 ] x[ 200 ] x[ o7 |x[ o8 = 205488 |@2
Rooflights 0.x | | x| 25 | x| 20 | x| o | x| os = 2736 |82
Rooflights 0 ox| | x| | x| 200 | x| o7 | x| 08 = 50008 |82

Rooflights 0. caxl I | 87 I | I | I X | 08 I | 95213 |(82
Rooﬂlghtsonxl | | | | 189 | | 0.76 | | 08 | | 2792.36 |82

Rooﬂightso,gxl 1 | X | 25 | X | 189 | X | 0.76 | X | 08 | = | 2585.52 |82
Rooflights 0.x 1 | x| 54 | x| 189 | x [ o7 | x| 08 | = | 558.47 | &2
Roofiights 0.ox [ 1 | x| a7 | x| s | x| o7 | x| o8 | =[ ‘ewoze |

Rooflights 0.9x 1 | x[ 2z x| 157 | x[ o7re | x| 08 | =[ 23108 [J&

Rooﬂightso,9x| 1 | x| 25 | x| 157 | x| 0.76 | x| 0.8 | :| 214776 |82
Rooﬂightsogxl 1 | X | 5.4 I X I 157 | X | 0.76 I X | 0.8 I = | 463.92 |82
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